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Revise Plan




- wParent Mode

User Controller
1 : btnParentMode ==! -
: 2 - parenthMode() o
: 3 : gheckParnetAccount{temp:String)
seq checkParentfccount ) :
H H 4 - new GUI_Account()
[false} 5 MMEE Ul st T s
[l 3
[true] :
: v B - new GUI Check Password()
e e oeen o] ToMEZcuL s .| I
8 : btnConfirm =& -
! I—! 9 : checkPassword(password:String.)
seq checkPassword ) :
: : 10 : Retry Message
[falge] s oeeeeeeeeeeseRssEeneseeeSReReReRRoRe e
[trud] i .__..11:new GUI Parent_Mode() _____|
- = AH A o
R R 12:M=2Escum s o0 '
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¥ Wordtrain Practice

Child

: 1 - btnWWordtrainPractice ==! H

ram

H 3 - new W1
_:: 4 - AH== GuU 2H g =

Y

¥ WWordtrain.wordList:String[]

5 - printWWordList(} -

: - - -

__________ 13- txtExplain_setText(information String)

A7 - playvySound()

e - - m e e e e e e e e e e - - -

18 - clip_start() | I

: 16 - btnSound ==! o
b coooaoo = — o I = [ e
H B
: 20 - btnMNext =% o i
..:5 _______ 2y =21 =l

22

e 22 et ordtrain,




lass Diagram

+ctr: Controller

+main()

Controller Child

+parent: Parent -
+child: Child +name: String

- +level: int
:feungzirgatzﬁgsuperman +superman: Superman
Parent +flag: int +Child{superman: Superman)
+superman: Superman +Contraller() :giﬁ:pme;gagt(::l:nsguperman
+Parent(superman: Superman) — +getChild(). Child [<Z—1 +getLeve\(}:‘|nI

+getSuperman(): Superman . :QEIEIWE”?U: Parent

+goalSetting(goal. int, reward: String). void +23F|:§E%'agl int): void

#resel(). void +getTemp(): String

+parentMode(): void

+childMode(): void

+account(): void
+checkPassword(password: String): boolean
+checkParentAccount(input: String): boolean
+checkChildAccount(input: String): boolean

+getExp(): int
+setExp(exp: int): void
+getMsgi): String
+getGoal(): int
+nextLevel(): void
+wordtrainPractice(): void
+wordtrainGame(): void
+dictionary(): void

Superman

:g;:‘:"::tt Wordtrain
+reward: String +flag: boolean Dictionary
+message: String +wordlist: Voca[] +voca: Voca
+Superman() +wordtrain: Vocal] +Dictionary()
+getGoal(): int +Waordtrain() +getVoca(): Voca
+setGoal(goal: int): void +setFlag(flag: boolean): void ——>| +setVocalvoca: Voca): void
+getExp(): int +getFlag(): boolean +gearchWord(str: String): int
+setExplexp: int): void +getWordList(): Voca[] +explainWord(): String
+getReward(): String +getWordtrain{): Voca[] +printPicture(): String
+setReward(reward: String): void +printWordtrain(voca: Voca): Voca[] +playSoundi): String
+getMessage(): String +printWordList(): Voca[]
+sethessage(message: String): void +printWordList{alpha: char): Voca[]

+checkWord(str: String): boolean

+searchWordList{alphabet: char): void

Voca

+spelling: String
+information: String
+picture: Url
+sound: Url

+Voca()

+Voca(str: String)

+getSpelling(): String
+setSpelling(spelling: String): void
+getnfo(): String
+setlnfo(information: String): void
+getPicture(): Ur
+setPicture(picture: Url): void
+getSound(): Url
+setSound(sound: Url): void
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Program Structure




1. Parent Mode 2. Child Mode 3. Account
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Unit Test




Wordtraln Practice

name=testPrintWordList() class=WordtrainTest
assertNotNull(voca[0]);
ae assertNotNull(vocal[1]);
assertNotNull(vocal[2]);
printWordlist() 23 = wordlist[3]0]] voca ZHHN| =T HE =il
assertEquals(voca[0].getSpelling().charAt(0),voca[1].getSpelling().charAt(0));
6-2 | assertEquals(voca[0O].getSpelling().charAt(0),vocal[2].getSpelling().charAt(0));
MZER Voca 3707l 25 £HZ2 LOoi8le =z A|&St= X =l
char last=vocal[0].getSpelling().charAt(voca[O].getSpelling().length()-1);
voca_next=word.printWordList(last);
6-3 | char first=voca_next[0].getSpelling().charAt(0);
assertEquals(first, last);
MEZ2 Voca 3707t & EHojoflA{ O|Of{X|= EHOfQIX| ol
Voca test = new Voca();
word.setVoca(test);
6-4 | word.searchWord(voca[0O].getSpelling());
assertEquals(vocal0].getInfo(),test.getinfo());
Word[0].explainWord() 7t sH&s= THH txtet 53 X| =2l
assertEquals(voca[0].getPicture(),test.getPicture());
6-3 Word[1].printPicture()2t si2St= EHO jpgll =2 2LX| o&F =2l
. assertEquals(vocal[0].getSound(),test.getSound());
Word[2].playSound()2t SiESt= Tt wave| d=2 2X| oF =kQl

Pass




Search Word

8

name=testSearchWord() class=DictionaryTest

8-1

assertEquals(-1,dic.searchWord("psy"));

2Bt THojT} gle FS 1 HkEl o% =tol

-

8-2

assertEquals(-1,dic.searchWord("mutex"));

QU2 CHof7} gl AL -1 His ol ol

8-3

assertEquals(0,dic.searchWord("icecream"));

Y=zt HHolvt A FL o mtw o

1
o

8-4

assertEquals(0,dic.searchWord("dad"));

QB CHOIZt US FR 0 HE o

1
o

8-5

assertEquals(-1,dic.searchWord("icecreammm));

Q|28 EHO{7F EXHSHE EHO7F WHE H -1

T
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2
il
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8-6

assertEquals(-1,dic.searchWord("daddy"));

2Bt THO|7F EXfSH= EHOI7F BIBE HY -1

| -

L
i
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8-7

System.out.println(dic.getVoca().getinfo());

Voca.information0f| MCH2Z & X A=K =2l

8-8

System.out.printin(dic.getVoca().getPicture());

Voca.pictureOf| MICHZ2 SEHE|J =X =2l

8-9

System.out.printin(dic.getVoca().getSound());

Voca.soundO|| AN|CHE2 Stetg|A=X| =tol

Pass
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